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b) Discgss thc purposc and ttsc of Iann rccttt'cis in {-arn"r managcmcnt'

c) List thc objcctives of farm managenrent

2. a) What do you undersland by the term "lnvestment Analysis" and briefly

explain any 3 methocis of analyzing ancl comparing jnvcs{mcnts?

b) Iror thc lollowilg daia on two projcct altcrnativps, fiucl out thc rnost prol-itablc

investmcnt using Payback pcriod method.

Invcstment alternatives l

l. a) What clo you mean by a larm record?

Pro

t
Jtl]ltcm Proicct A

$ 10,000

? 500

2,500

? 500

2,500

2,500

2.500

$ I 0.'000Oapital outlay

Nct cash rcvenucs

Ycar 1

Ycar2

Ycar 3

Ycar 4

Ycar 5

Ycar 6

4,000

4,000

- 4,000

f

$3,33 3Annual depreciation $ 1,667



3. a) Bricfly clcscribc the assumptions o1'l,incar l)rogrammir-rg?

b) A mcat proccssing l'arm procluccs 2 products, callccl bacon ernd sausagcs. i)roduction

capacity o1- f arm in tcrms of operation is 8 hours a day. Production proccss is as

follows.

Ilacon is first cut anc"l packccl. lM'l' ol'bacon uscs r-rpt<l % hours of culting ancl l/3

hours o[- packaging capacity. Sauszrgcs is mixcd ancl packc<l. lM'l' ol' serusagc uscs

l hour o{'rlixirrg, 2/3 hours o['packaging capacity

Nct return lbr bacon is Ils. 400 per M'f

Net return lirr strnsagc is Ils. 300 pcr M'1'.

What is the optimum production lor bacon and sausagc per day?

ii. What is thc optin-ral profit lcvcl subjcct 1o thc conslraints?

4. a) Ilriefly cxplain the stcps involvcd in lbmr planr-ung.

b) Prcparc thc partial

addition ol' 50 bccf

availablc. I 00 acrcs

production.

budgct lor thc .iollowing data, 'I'hc propp-sed changc is thc 6.

cows to an cxisting hcrcl. Ilowcvcr, as n,it 
",-rough 

forage is

currcntly in grain productior-r must bc convcrtc\to forage
,r'
t

3{Interest orrgrws/ Bulls

Taxes

Labor cosl on rearing cows

I;crtilizcr cost

Sccd cost

Chernical cost

Pasturc [-crtilizer cost

Fecd and hay cost

Vctcrinary ancl hcalth cost

Labor cost on grain prodr-rction

Rs. 250,000

Rs. 10,000

Rs. 60,000

I{s. 275.000

Its. 120.000

Its. 150,000

Rs. 150,000

Its. 200,000

I{s. 50,000

ILs. 150.000



I{evenuc li6rn grain production (5000 bushcls @ I{s. 400 per busl-rel)

Revenuc liom 5 cull cows

Revenuc lionr lU hcil'er calvcs

I{s. 250.000

I{s. 645.800

a) Briel11, clisct-tss the causes of depreciation.

b) Assumc that a ncw machitrc is purchascd on

salvagc valuc of lts. 3000 at l0 ycars uscf'ul

What would be the annual depreciation lbr

depreciation methods giricn below.

i. Straight line method,

ii. Sum- of-tirc ycar cligit mcthod. or

iii. Doublc clcclining balancc mcthotl.
.l:

'

6. a) What are thc sources of risks and brielly disouss

.Ianuary 1't

lirt.

the first 3

lor Rs.30,000 ar-rcl gtvcn

years under any two o1'

tlirrc of them.

b) List thc production risk tools and explain how

be uscci to rcilucc risks. 
1

thcse di ffcren"lstrategics could

t
' l{

a6\


